ER2TREE () UM R

(B) [E5E A SR i e A Bh < (&) (BEAZ )
HEXSy MiBh FEE A i 4 b HFEANEAE & #
P — ;1;;;;\/4 v HOX i;r;a;;;g;éé7/#/ v SERIT 3% B SRR 1, 009, 000
Sy P S R IR Sl 7 & 9 & LB AT A A 4, 382, 000
R SCAb . S— T 1, 325, 000
RSB o * — T 3, 000, 000
B P TP . 1 000,000
R Sk SR T * — TR £ 1, 000, 000
SRS P o S T 2, 050, 000
e P TP e 1 000,000
MR SCAb R N — TR 5 1, 000, 000
B ) o ’ TP B 780,000

/NER 11 14 19, 046, 000




VHTHE () UM IRIF SR
(H)  SOBREE A B 4HBh & (@) (HALH)

HEX Y il B 4 H A4 & il % i HEANER &
T P 5 o SHBIEE B (B ) 22, 040, 000
— 5 R SRR RS (B ) 14, 568, 000
. Y N SRR B (R R 0. 162, 000
T . £ N BRI (BB L) 57,251, 000
. i s SHBIEE B (B ) 16,939, 000

/NEE 5 113, 260, 000




